XERCISE 6.2

sECTION A. CLAss Response 14-b6- 20 o
. 1 Which of the following are True (T) and which are False (F)?
1. The sum of two negative integers is always a negative integer. Troas
2. The difference of two positive integers is always a positive integer. fala e
3. 19| > |-9] fai&@
, 4. The sum of a number and its additive inverse is zero. |3t e
5 [7-2[=17] + |2 False

II. Fill in the blanks:

1. The successorof -1is __ 0 (=D+1= 0

2. ___—I|  isthepredecessorof0. O -1 = | i | |
\\’-’ (h\) 44 = ()J

3. If the additive inverse of a number x is 4, then x = _—H

4, _ =1 is the successor of -18. “\R+1= ~I't
5. The predecessor of —21 is =22 -21-1= - 272
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